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ENG2515 Storbritannia etter 1945


Answer TWO questions.


1.	Explain how it was possible for the Conservative Party to win the general election of 1951, despite the fact that the Labour Party obtained a higher share of the popular vote.


2.	Who were the ‘Angry Young Men’ of the late 1950s, and what were they angry about?


3.	What is meant by the term the British ‘rebate’ from the EEC/EU?


4.	Briefly stated, what were the recommendations of the Jenkins Commission Report on the Voting System in 1998?





